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A= st 2A  S3td=0
PSR Slils Mg EE
= All=2483NA (cho &)
SH-EB .S (3H) - MEAY - BES 0 Ak o8 ﬁlf& HDS2
== 540,000
Sl NS A AT 280,000 0 280,000
2 140,000
== 140,000
307 QI2t0| ™ 280,000 0 280,000
2 140,000
= 140,000
02 At AMAIEE =X 280,000 0 280,000
O2stdz=unsSAMAE I 280,000
= 140,000
& 140,000
OS2tz 300,000 0 300,000
=2 150,000
& 150,000
307 QI2t0| ™ 300,000 0 300,000
2 150,000
== 150,000
02 AI2tAAMAIEE =X 300,000 0 300,000
OKotesttsns X 300,000
2 150,000
= 150,000
CE=H2IE 4T 9,775,978 9,463,425 312,553
= 14,800
o= 9,761,178
CEHsHEdy 9,729,078 9,463,425 265,653
201 Bt A H| 3,000 0 3,000
01 AP 2t2l bl 3,000 0 3,000
Oget=sH| 3,000
O glsHadgdedsRo2H& 3,000
202 04| 10,368 0 10,368
01 2L Y| 10,368 0 10,368
Ozgosd2d =80l 10,368
301 dEtE A= 9,614,760 9,357,775 256,985
V=L - 22242 9,614,760 9,357,775 256,985
Ocg=do48 4 3,008,819
(OPIF== 2,084,328
- XI & Xt 4,695,300 x1H x12& 56,344
- ot & 4,411,400& 1 =128 52,937
-5 2,770,200& x7H x12& 232,697
- XA 2,888, 100& x7H «12& 242,601
- G 1,300,000
-AMNR=2HE 4,323,000 x1H x12& 51,876
- AR 3,400,600 x3H x12& 122,422




A= 2o FHE= M 230z
M o=ssEEE
Sl CYNBHSYE LS
A2 .2 B S(BH) - HRAY - BES il &t o il
- AMNRR(83) 2,120,900 x1H x12& 25,451
OFSE=El=; 2,299,253,000& *1/12x50%*23] 191,605
O&FZ =gtz 63,480
- 204 0l &f 100,000& 33 128 39,600
- 154 01 420 01 8t 80,0003 x 11 «12& 10,560
- 109 01 &f 15 0 &t 60,0003 x11&H«128 7,920
- 5@ 014102 018t 50,000& x9H x12& 5,400
OFZ2=YFIHet= 7,800
- 259 0l &f 30,0003 x15H 128 5,400
- 2040l &f 258 0] 8¢ 10,000& »20H «12& 2,400
OHAEE ¢ 112,000
- EsE 54,000
i < Xt 40,0003 x55H «128 26,400
JIELE 20,000& x115H «x12& 27,600
S-SR Y 500,000& x3H 128 18,000
- AESHEEE 40,000
nsst 500, 000& x20H *4 3| 40,000
OYEFIHHl  2,299,253,000& *1/12x60%*23] 229,926
Olls=¢ 86,640
- X & Xt 200,000& x 18 128 2,400
or & 180,000 x1H x12& 2,160
=4 150,000& +7H 128 12,600
PAES] 130,000 x7H x12& 10,920
- s 100,000& 43 » 128 51,600
-ANR2E 180,000 x1H x12& 2,160
- AR & 100,000& 4 128 4,800
OoO¥d=< 28,200
-HE 50,0003 43«12 25,800
- AR & 50,0003 »4H 128 2,400
OXHMG 32,400
- X 2 Xt 450,000& x 18 «128 5,400
-4 300,000 x 1 128 3,600
- =4 100,000& 7H 128 8,400
- XA 50,000 x7H 128 4,200
-AR2E 300,000 x1H «128 3,600
- AR & 150,000& x4H x12& 7,200
OXsSE Xl 72,600
- X & Xt 220,000& x 18 128 2,640
-AE 170,000 x1H = 12& 2,040
- o 90,0003 x57H 128 61,560
-MNRE=FE 170,000& 1H 128 2,040
- AR & 90,0003 x»4H 128 4,320
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A2 2 2BHS2 2A 2302
M. 2lMsMPEE
ool CEHsHSYE S (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
-2y 3,542, 1003 x1H «12& 42 506
-5 3,309,300& x1¥ x12& 39,712
- XA 2,981,900 x 1 »12& 35,783
- GHA 2,025,657&3*21H «12& 510,466
- MR 2,614,200 x2H 128 62,741
(OFSF=ra=; 730,680,000& *1/12%50%*23] 60,890
O&FZ2=YIit= 10,200
- 20 0l & 100,000& 39 x12& 3,600
- 154 0l 4204 0] 2F 80,000 x1H x12& 960
- 10 0l &t 154 O] 2F 60,000& x2H x12& 1,440
- 5 0] AH10E 0 8F 50,000 x7H x12& 4,200
OJHEAELEE 9,360
-EsY 3,360
- Bl X 40,000 *4H x12& 1,920
- JIEHDHS 20,000& x6H «12& 1,440
-FE0EE Y 500,000& x1H x12& 6,000
OY &=ty 730,680,000 *1/12%60%*23] 73,068
Olls=<¢ 34,920
- OF2 Xt 180,000 x1H »12& 2,160
-E2EH 150,000& x1H ~12& 1,800
- A 150,000& »1H x12& 1,800
- XhA 130,000& x 15 x12& 1,560
- SR 100,000& x21H = 12& 25,200
- AR R 100,000& x2H «12& 2,400
O&=d 15,000
- G 50,000& x23H x12& 13,800
- MR 50,000& x2H x12& 1,200
O M= 11,400
- OF2 Xt 300,000& x1H x12& 3,600
-2y 200,000& x1H x12& 2,400
-5 100,000& x1H ~12& 1,200
- XA 50,000& *1H x12& 600
- AR R 150,000& x2H «12& 3,600
O&ZEXH| 30,360
- OF2 Xt 170,000& x1H x12& 2,040
-EEHE 110,000 *1H x12& 1,320
- CH& 90,000& x23H x12& 24,840
- ANRR 90,000& x2H x12& 2,160
OFMZAY| 42,120
- OF2 Xt 130,000& *1H x12& 1,560
-Edd 130,000 x1H «12& 1,560
- SR 130,000& x23Y x12& 35,880
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A2 2 2BHS2 2A 2302
M. 2lMsMPEE
ool CEHsHSYE S (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
- XA 2,785, 7002 x11H = 12& 367,713
- &3 2,838, 100& »52H «12& 1,770,975
- MR 3,309,320 x3H x12& 119,136
(OF=RE=, 6,000,000& x1H x12& 72,000
odz2x4¢ 2,793,821,000& *1/12%50%*23] 232,819
O&dZx=gotdt=a 69,720
- 204 Ol & 100,000& x6H x12& 7,200
- 1549 0] AH20E D] B¢ 80,000& x54H x12& 51,840
- 108 0l AH15E O] B 60,000 x9H x12& 6,480
- 540l AH10E O] BF 50,000& 7 x12& 4,200
O&Zx=gotdt= 1,440
- 25E 0l & 30,000 2 x12& 720
- 204 0l At254 0] 8¢ 10,0003 x6H 122 720
ONAHEBELY 84,800
-EY 64,800
- B X 40,0003 x70H = 12& 33,600
- JIEHDHS 20,000& *130H x12& 31,200
- AESHHI B X 4G 20,000
NSsHM 500,000 10 *43| 20,000
OY&ESIIHl  2,793,821,000% x1/12%60%*23] 279,383
Olls=< 108,960
- XI & Xt 200,000& x1H x12& 2,400
-=4H 150,000& *13H x12& 23,400
- XhA 130,000& *11H x12& 17,160
- SR 100, 000& x52H = 12& 62,400
- ARR 100,000& 39 x12& 3,600
O&dASE 33,000
- G 50,000& x52H x12& 31,200
- AR 50,000 *3H x12& 1,800
O& Mt 33,000
- XI & Xt 450,000& x1H x12& 5,400
- A 100,000 «13¥ x12& 15,600
- XbA 50,0003 *11H =12 6,600
- MR 150,000& *3H x12& 5,400
O&ZEXH| 87,960
- XI & Xt 220,000& x1H x12& 2,640
- CH& 90,000& x76H x12& 82,080
- ANRR 90,000& 3 x12& 3,240
OFMZAY| 120,120
= 130,000& *74H x12& 115,440
-ANRE 130,000 *x3H x12& 4,680
Omsere et 2 A H| 262,000
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A2 2SRBAS2 SA2eare
M S| EASFA
oelr CABeY (B9 ®R)
AR 2N EH O () - MBEAY - BAS 0l &t il HZS2
OBdSTN2AIRI S HI A A X 200,000
OZANE2ESEZT7L 20,000
OXE S ALAHI 2 H] 2,500
ORd3do2gsY 22,500
03 At L ] 38,000 0 38,000
OJ12 & Al S 20,000
OSASETZIH2H 18,000
202 O B 20,000 0 20,000
1 = LH 4 B 20,000 0 20,000
OS2 FX0HI 20,000
207 R4 2l 586,000 0 586,000
02 & AR Y| 586,000 0 586,000
OSNBASHAIAE NS (FEN) 586,000
301 LptE &3 48,000 0 48,000
12 JIEtE &2 48,000 0 48,000
OXEALNEAaZ 48,000
307 21240 200,000 0 200,000
05 A2t &= 200,000 0 200,000
OF=SAHSAIE 22 ESA 200,000
401 Al HI L 2 0HHI 1,647,500 0 1,647,500
01 A& HI 1,645,000 0 1,645,000
O3S AH2HCIHSAM(FIEA) 1,500,000
OBEEANZESLSHAAEAEX S A 130,000
O3S AAELSHAI A A AIE A b 15,000
03 AlE 201 YI 2,500 0 2,500
CIQH 2l 2 AFAIE 2 TH | 1,800
O S HAIAEE X SALAIE 20| 700
405 XtabF SHI 5,646,000 0 5,646,000
01 AL 2B F SHI 4,234,000 0 4,234,000
[RES=lapl el 30,000
OF=EH2IR2SE 7Y 350,000
OJBZMD0SAANI (2 eH)R2 500,000
CIRFIDAIAEISE 2 EHI 2 S 530,000
OSAHAEZDIDR2Y 50,000
OotHZ2 2 M &7 100,000
OENBSEHMAIAG RS 2,674,000
OMHAIAE 680,000
OXdBESAAH 900,000
OUERILIIELE ] 655,000
OANAHEAZTEN 308,000




A= 2HBBHSD FA et
M S| EASFA
ool TAESY SE R
AR 2N EH O () - MBEAY - BAS 0l &t il HZS2
OO0 EXNPCHRHAH 7 131,000
02 & A7 1,412,000 0 1,412,000
OHARSRE(F2EN) 1,412,000
HE2HFH| 118,494 40, 360 78,134
Jl=23tl 118,494 40, 360 78,134
Jl2&l 118,494 40, 360 78,134
201 LEt2 Y| 25,004 29,360 N 4,356
01 AR 22| I 25,004 29,360 N4, 356
OJgeta&| 9,500
OMEEELARERYUE 5,000
OMNSPSUTHPYYIS 4,500
O3l 15,504
O HRF=XZAH| 15,504
202 O B 9,000 11,000 A 2,000
01 2L Y| 9,000 11,000 A 2,000
OS2I HLF=X0 I 9,000
203 & R =&lY| 10,740 0 10,740
01 J|2A2H L R=XH| 2,500 0 2,500
OEMd2& 2,500
02 HRJAE R =&Y 5,840 0 5,840
RESEEPNWIPSES =Nl 1,040
30 0l &t 4,800
04 ENESIHRF=EY| 2,400 0 2,400
[130¢! 0l ot 2,400
204 X2 =2 A H| 7,800 0 7,800
01 MM HR-HAY| 7,800 0 7,800
O&EMH2E 2,400
O8H 5,400
405 X+H&HF SHI 65,950 0 65,950
01 A&t =S F SHI 65,950 0 65,950
OYHEN 1,000
O&AD| 2,000
TV 800
CIFAX 500
Odlold=ZelH 7,500
ORE= 1,500
OYRSEPC 17,000
OHELDLIH 4,250
O2 M A& 1,400
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==
N = 0] &F AF S & AN A
20198 & 20 A LEHSH Al
AR S22 2N 23Kt
Hu: MERARMAMANNREHL
Ee: S ES=HH| (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
E3 ALY 107,727,857 84,533, 180 23,194,677
= 65,423,841
g 4,171,000
Jl 6,600,861
= 31,532,155
HNEESSFAAMAHE B =22 107,691,977 84,459,000 23,232,977
= 65,423,841
g 4,171,000
Dl 6,600,861
c 31,496,275
S5 ES=FH| 74,594,365 56,112,953 18,481,412
= 52,537,713
J| 1,920,932
= 20,135,720
S MELSHEH =X 25,800 31,935 AN6,135
201 et 9| 6,000 6,935 A 935
01 AP 2t 2] d| 6,000 6,935 A 935
Ogsr=2H| 6,000
OSSMELHHZIAIREERLS 6,000
202 04d| 15,000 20,000 A5,000
01 2L HI 15,000 20,000 A5,000
O3 ME+=EHIF& 15,000
203 ¥ 2 =& 4,800 5,000 A 200
03 AIZH =& 2 F X H| 4,800 5,000 A 200
OS2l g8 4,800
Z2IXNE L2 MES(EEZLIHE) 200,000 0 200,000
= 140,000
& 60,000
307 2iz2to| & 200,000 0 200,000
= 140,000
&< 60,000
02 QIZ2IAAAIE E X 200,000 0 200,000
OSEEAESREDLIHE AL 200,000
= 140,000
o=} 60,000
ZIIXNE L2} MES (X)) 64,993,657 46,213,338 18,780,319
= 52,397,713
& 12,595,944
403 XX SRS K 20| & 64,993,657 46,213,338 18,780,319
= 52,397,713
& 12,595,944
01 AXESHHR=E2E X 64,993,657 46,213,338 18,780,319
O2JIXNE2SME = 64,993,657
= 52,397,713




AR 2BBHS= &
B HESUASMANHNEE2L
el 2 HESFH| ML)
2 - 4
2. 2A B G(E) - KR Ol &k o8 il HlnE2
| < 12,595,944
EXNZE=2ME = 7,000,000 8,025,000 21,025,000
403 UHXSHHSA=0l& 7,000,000 8,025,000 A 1,025,000
TAXEH =2 X 7,000,000 8,025,000 A 1,025,000
OEXNE23ME= 7,000,000
=2 ESs 100,000 250,000 A 150,000
403 X SHHS =0l & 100,000 250,000 A 150,000
01 XM A=2E X 100,000 250,000 A 150,000
O23 M2+ 100,000
S HHH S XA AR RS 2,224,908 1,592,680 632,228
| 1,920,932
< 303,976
403 MtXISHE X201 & 2,224,908 1,592,680 632,228
| 1,920,932
< 303,976
01 Xt SRR 2,224,908 1,592,680 632,228
O23 M MHLXAIAE RS 2,224,908
| 1,920,932
S 303,976
NZ2SHES(FOU=S) 50,000 0 50,000
403 A X EHHSKH20IA 50,000 0 50,000
TAXEH =2 X 50,000 0 50,000
OH&EZE2HSHCIZEAM 3 50,000
FMESK & 12,956,845 8,873,602 4,083,243
= 3,480,500
| 4,679,929
< 4,796,416
ZSMESKFE 11,750 11,750 0
201 LB-2d| 3,650 3,650 0
01 At 22l 3,650 3,650 0
Oget=2tl 3,650
OZMES KA F & A = 3,650
202 o4l 8,100 8,100 0
01 = LHA YI 8,100 8,100 0
O3 MES K& =& HI 8,100
=S MX A0l & S XA 46,000 46,350 A 350
308 XXM S0 A 46,000 46,350 A 350
01 AXNSHHBLEES 46,000 46,350 A 350
O23MXZolgsH X 46,000
=SS 2 K& 55,000 55,000 0




A= 2o FHE= PN 2aRAD
B HESUASMANHNEE2L
??: 2AMESXH (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 55,000
308 XXM SO A 55,000 55,000 0
= 55,000
01 HIXNHHBNEES 55,000 55,000 0
O=SHae2el 55,000
= 55,000
ML MHAIE X2l X2 989,362 831,475 157,887
J| 876,650
< 112,712
308 XXIELHSOIA 989,362 831,475 157,887
J| 876,650
< 112,712
01 AXHHBILEES 989,362 831,475 157,887
EZSHH M e XAl A B = X 22l 989,362
J| 876,650
= 112,712
EXNEE2S MG LS TA AR A= 235,000 235,000 0
403 A X EHHSH20IA 235,000 235,000 0
NXISH A= E X 235,000 235,000 0
OEXNE2A MM XAIAR RS 235,000
oMot BH AU XL E S 2,581,787 2,213,220 368,567
J| 1,985,990
= 595,797
308 XX EHHSOIA 2,581,787 2,213,220 368,567
J| 1,985,990
= 595,797
01 HIXNHHBNEES 2,581,787 2,213,220 368,567
O23 et A &bl X 2,581,787
J| 1,985,990
< 595,797
232 350,000 250,000 100,000
207 RO 100,000 0 100,000
01 A3 39| 100,000 0 100,000
OYSENSARSBAYISHE LY RA(E
BIEO) 100,000
307 glz2+ol & 150,000 100,000 50,000
02 HAFHAANGFEE 150,000 100,000 50,000
OZSF=T )t L 2B T2 ALE 150,000
308 MtXIEHMSOIH 100,000 150,000 A 50,000
1037/ 2S0HUHeEH4HAEALS I 100,000 150,000 250,000
O3ItEEIN= X & 100,000
2SS ALY 3,390,578 2,934,822 455,756




o2 HE= PN 2aRAD
HEERMANMARZEE 2
Z2IMESKA (&)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
Jl 1,695,289
=) 1,695,289
307 glz2tol & 3,390,578 2,934,822 455,756
J| 1,695,289
=) 1,695,289
02 It M AHE X 3,390,578 2,934,822 455,756
O2FMSSME 3,390,578
J| 1,695,289
< 1,695,289
ML A 2 2SN (EXE) 208,125 187,500 20,625
308 XtXIEHH SOl A 208,125 187,500 20,625
01 AXHHIYEES 208,125 187,500 20,625
OEXE2MSEE 2l X 208,125
M ZSHIH A 575,750 547,750 28,000
= 329,000
< 246,750
308 MtXIEHMSOIH 575,750 547,750 28,000
= 329,000
< 246,750
01 HXNHHNBHEELS 575,750 547,750 28,000
M2 ALY 575,750
= 329,000
< 246,750
SN2 HESALS 811,500 649,500 162,000
= 541,000
< 270,500
308 XX EHSOIA 811,500 649,500 162,000
= 541,000
< 270,500
01 IXNSHHBNEES 811,500 649,500 162,000
OSSN 2 HES ALY 811,500
= 541,000
< 270,500
A7 AQIE ALK& 17,493 18,735 A1,242
= 15,500
< 1,993
308 XtXIEHH SOl A 17,493 18,735 A1,242
= 15,500
< 1,993
01 AXHHILEES 17,493 18,735 A1,242
OXSHFABIEHALX R 17,493
= 15,500
< 1,993
2ot O T2 ) M 525,000 600,000 A75,000
= 350,000




AR 23BBHSE SN 23R4
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- _ — d =
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< 175,000
308 XXM SO A 525,000 600,000 AT75,000
= 350,000
< 175,000
01 IXNHHBNEES 525,000 600,000 AT75,000
23T OoF &t ALY 525,000
= 350,000
< 175,000
HSAMAZSTHE S A 193,500 192,000 1,500
= 129,000
< 64,500
308 XtXIEHH SOl A 193,500 192,000 1,500
= 129,000
< 64,500
01 AXHHBIYEES 193,500 192,000 1,500
OdSAA2STHEEAS 193,500
= 129,000
= 64,500
NE2stReW= 183,000 100,500 82,500
Jl| 122,000
< 61,000
308 AAIEHHSOIA 183,000 100,500 82,500
J| 122,000
< 61,000
01 HXNHHNBHELS 183,000 100,500 82,500
OX92stmans 183,000
J| 122,000
< 61,000
EXNEEZSMEIIZA 104,000 0 104,000
101 @124 dl 25,000 0 25,000
04 JIZtHZ2HEE+ 25,000 0 25,000
OEXNE23MEIZAIE R QI QI2A4H| 25,000
201 et 75,000 0 75,000
01 At 22l 75,000 0 75,000
Opt=2Hl 5,000
OEXNEZAMEINZARATNSHES 5,000
O2ds¢ 70,000
O XNE2AMEIINEMSELY 70,000
202 044l 4,000 0 4,000
01 =L o4 1l 4,000 0 4,000
OEXNE 23 ME I ZAFE A b 4,000
HE2IMEZSHEX M 2,549,000 0 2,549,000
= 1,961,000




o2 HE= FN 285
HEERMANMARZEE 2
S}MESKH cet )
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
< 588,000
403 MtXISHHSA=0l& 2,549,000 0 2,549,000
2 1,961,000
< 588,000
01 XM A=2E X 2,549,000 0 2,549,000
OMEEIMEERIEXNY 2,549,000
= 1,961,000
< 588,000
20193 SHIH & At el At 8t etk 3] O = 130,000 0 130,000
= 100,000
< 30,000
308 AXIEHSO0IA 130,000 0 130,000
= 100,000
< 30,000
01 AXHHBIYEES 130,000 0 130,000
[J2019=2 5t MH & Kt el &S 2 & 3| OH = 130,000
2 100,000
= 30,000
SEESMX & 1,566,446 2,125,030 A 558,584
2 732,528
< 833,918
S MAAFA 15,630 15,630 0
201 L2l 3,650 3,650 0
01 At 22l 3,650 3,650 0
Ogst=2tl 3,650
OFLERFMANIFTIMNEREEUS 3,650
202 odl 11,980 11,980 0
01 = LH o4 1l 11,980 11,980 0
OSEE3 M =Y 11,980
SHEEIMESKE 589,000 589,500 A 500
308 XX EHH SOl A 589,000 589,500 A 500
01 AXSHBLELS 589,000 589,500 A 500
OREEMBMAMK 110,000
R MERNSAE 379,000
OfREEIMERSHIR 82,000
OetsXHE =01 AHI X & 18,000
Heng2AAY 869,700 1,430,000 560,300
2 669,000
< 200,700
403 MHXISHE X201 E 869,700 1,430,000 A 560,300
= 669,000
< 200,700
01 X SHHX2E = 869,700 1,430,000 A 560,300
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Est2AZH== 2N 23Kt
NEEZIRAAMAHEEZ =22
SAMNIHIL AR 2L (SH9 &)
- _ _ RE]
SoSA-EESY(EH) - NEAY - B Ol At o %Eﬁ HR=2
= 90,000
OJestAAIIEsdETH(ZEZH]) 2,250,000
g 1,500,000
o= 750,000
NAHASASZZEIAY (B2 HAOIE) 5,552,340 1,225,672 4,326,668
= 4,918,200
& 634,140
403 XX SRS K2 0| & 5,552,340 1,225,672 4,326,668
= 4,918,200
& 634,140
01 MXHHE2E = 5,552,340 1,225,672 4,326,668
OMASAMEZDUCIAIS (829 HADIE) 5,552,340
= 4,918,200
= 634,140
MASAZSZ A (A2 2 UE2AH) 1,264,000 768,557 495,443
= 1,120,000
o=t 144,000
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